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1 Explain : np - chart and p-chart. 20
OR
Y and R chart. 20
Sample No. | 1 | 2 |3 |4 (|56 |7 ]8]9]10
Mean 371431401 41|38|39|40|41(39]40
Range 4 16| 8|8|10|6 (144 |6 |12
(n=4,4,=0.729, D, =0, D, =2.282)
2 What is time series ? Explain its components. 20
OR
From the following Technology matrix, find total 20
production of Industries A, B, C.
Final Demand
02 0 0 |]40
0.1 01 O 0
03 02 0.3][100
3  Explain : Demand Rule, Supply Rule, Elasticity of 15
demand.
OR
3
Total Cost Function = C =300x—10x2+x?, calculate : 15
(1) x at which M.C. is minimum.
(2) x at which A.C. 1s minimum.
(3) x at which MC=AC.
4  Explain : Utility function, Homogeneous production 15
function, Marginal utility.
OR
The Utility function of a consumer is 15
U= f(x,y)=48—(x=5)’ -3(y—4)*> and his budget equation is
x+3y=9. Find maximum utility and also find x and y.
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